(3 2.022-230

=(smm=1 +3wm +2) XM

ol A
g xM F2x = ©

(D sx _
J k%X‘j "‘2,‘3 o (x7 )u17-=>57‘1m(w1—1’)x

W W aemt 3" W\(M—r')x
IS8 "*5‘“1"“47*?%*2' Sm’t- GmH3mt2 = S iz b2
B N {—Hisi)’_ 2 236l
10 10
Solodds geeral dt L p; 1o >
-1 < BA,
A= 4;/ =75

\'& X e (< CS(Z 2 L) + (2500 (i Lnx)).

@ \3]”,_1(\])? ’\'3‘3 = 17_7<€
T

X V:}:'l)_xef(
W= e’ & .- yv LMY ;17.6”)‘
ox g ©|=2(a¢ 2¢') '
e\{ e}.\f 0 »)(C"qk:.
! 2 )=~ 6€3Y(12?‘€) o
'Y, ,\O ;}x o (D' {Lﬁolg 2%
- O 3 - _ a {
VT f g © ) ex (x> 24¥
o) *©
ex 01 e¥fl -
\NL:\ ¥ 0 o\; ( » e"f Y. tee)
S < O X -
)i 65)( : - Q/l»‘:) ¥ 3( L'%é; ]
e“ e’ 1 el
’l’l\ WA “‘é"lﬂey — So* '.._—pu‘-"""éfx =t U= xiﬁ d
=y © 4 . L
L ty —ax o, U2” zj"ebu” fy’f% 1 52-: b
oY ax€ oy (&0) = ¥ -Le.
oW P = - A&
w 1€ ¥ ¥ ef.f‘x)
g% € = U 5?—!)(67(0’3( 7'2-(¥€ "‘(
) 2L ~ 2.X 2
Ug;%:— /i%;— = Z(XCY’c)C)
= -—Sx"’é”‘i-(*xe —J-f "9 1o (veX- (,y) 3

ﬂp—u,g,m,,»g,’.; U, =
= -3xte” +L—>c-i)e>‘ +(4Xx-%)

= Yp = (-3x" 43X ~-Lyex

e¥= (-3% Tx-4 4—%{-—1/)6

La sduaoi
de L\ ED e k .
X=ZyeX+ qe* +qe** ¢ §:
3-



